#p ¢ 193001

Zriy %5 ¢ K1.01 [2.5/2.7]

F-E.: P73

An atmospheric pressure of 15 psia approximately equals...
A. 30.0 psig.

B. 29.4 psig.

C. 14.7 psig.

D. 0.0 psig.

ANSWER: D.

15 psia s~ F B4 HEI ..
A. 30.0 psig

B. 29.4 psig

C. 14.7 psig

D. 0.0 psig
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B P273

A pressure gauge on a condenser reads 27 inches of mercury (Hg) vacuum. What is the
absolute pressure corresponding to this vacuum? (Assume an atmospheric pressure of 15

psia.)

A. 14.0 psia
B. 13.5psia
C. l1l5psia

D. 1.0 psia
ANSWER: C.
ARERS ET 2T AKMHYE T N HBLE TGRS L0 0 (BRRAF
&4 % 15 psia)
A. 14.0 psia

B. 13.5 psia
C. 1.5psia

D. 1.0 psia
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Bt P4T3

Assuming a standard atmospheric pressure of 15 psia, 5 inches of mercury (Hg) vacuum is
equivalent to...

A. 2.5 psia.
B. 5.0 psia.
C. 10.0 psia.
D. 12.5 psia.

ANSWER: D.

Bk F &4 5 15psia > 5ed AHL(HY)E 7 5.
A. 2.5 psia
B. 5.0 psia
C. 10.0 psia
D. 12.5 psia
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F-%.: P8T3

If a main steam line pressure gauge reads 900 psig, what is the absolute pressure?
A. 870 psia

B. 885 psia

C. 915 psia

D. 930 psia

ANSWER: C.

dode 3 FETE R4 i 900 psig o FHERA L 559
A. 870 psia
B. 885 psia
C. 915 psia
D. 930 psia
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F5.  P1173

Which one of the following is equivalent to 5 psia?
A. 20 psig

B. 10 psig

C. 10 inches of mercury (Hg) vacuum

D. 20 inches of mercury (Hg) vacuum

ANSWER: D.

- );ijajﬂzgﬁ‘%';‘ 5 psia ?
A. 20 psig
B. 10 psig
C. 10+t X 41(Hg)2 =

D. 20 = A 41 (HQ) £ %
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BE.:  P1273

Which one of the following is sequenced from lowest pressure to highest pressure?
A. 8 psia, 20 inches Hg absolute, 2 psig

B. 8psia, 2 psig, 20 inches Hg absolute

C. 20 inches Hg absolute, 2 psig, 8 psia

D. 20 inches Hg absolute, 8 psia, 2 psig

ANSWER: A.

TR M R R ?
A. 8psia~ 20 v4 k4% $H/BR 4 ~ 2 psig
B. 8psia ~ 2 psig ~ 20 v & t1.5 4% 4
C. 20 =t X419 $+/& 4 ~ 2psig ~ 8 psia
D. 20 =} % 4.5 /& 4 ~ 8 psia ~ 2 psig

Ex A
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Zriy %5 ¢ K1.01 [2.5/2.7]

BE.:  P1573

Which one of the following is arranged from the highest pressure to the lowest pressure?
A. 2 psig, 20 inches Hg absolute, 8 psia

B. 2 psig, 8 psia, 20 inches Hg absolute

C. 8psia, 20 inches Hg absolute, 2 psig

D. 8psia, 2 psig, 20 inches Hg absolute

ANSWER: A.

TR AR AT MRS
A. 2psig ~ 20 =4 & 43 ¥4/ 4~ 8 psia
B. 2 psig ~ 8 psia ~ 20 v & 1.5 4 /& 4
C. 8psia~ 20 v4 & 4.8 ¥/& 4 ~ 2 psig
D. 8 psia ~ 2 psig ~ 20 v & +1.5 4% 4

Ex A
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Which one of the following is approximately equivalent to 2 psig?
A. 11 psia
B. 13 psia
C. 15psia
D. 17 psia

ANSWER: D.



#p ¢ 193001

Zriy %5 ¢ K1.01 [2.5/2.7]

BE. P2073

Which one of the following is arranged from the lowest pressure to the highest pressure?
A. 2 psig, 12 inches Hg absolute, 8 psia

B. 2 psig, 18 inches Hg absolute, 8 psia

C. 12 psia, 20 inches Hg absolute, 2 psig

D. 12 psia, 30 inches Hg absolute, 2 psig

ANSWER: D.

TR S RPN R RS Y

A. 2psig~ 12 ¢4 & 4.8 ¥4/ 4 ~ 8 psia
B. 2psig ~ 18 =}k .55 $/B 4 ~ 8 psia
C. 12 psia~ 20 v A 4% /B 4 ~ 2 psig
D. 12 psia ~ 30 v4 & 4.5 £ /& 4 ~ 2 psig

g% :D.
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B P2173

Which one of the following is the approximate condenser vacuum when condenser pressure is
16 inches Hg absolute?

A. 4inches Hg vacuum
B. 8inches Hg vacuum
C. 12 inches Hg vacuum
D. 14 inches Hg vacuum

ANSWER: D.

ARABNGHEA L 16 A BT X
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By P2273

Which one of the following is arranged from the highest pressure to the lowest pressure?
A. 2 psig, 12 inches Hg absolute, 8 psia

B. 2 psig, 18 inches Hg absolute, 8 psia

C. 12 psia, 20 inches Hg absolute, 2 psig

D. 12 psia, 30 inches Hg absolute, 2 psig

ANSWER: B.

ELRGE- LS N o I GV
A. 2psig~ 12 ¢4 & 4.8 ¥4/ 4 ~ 8 psia
B. 2psig ~ 18 =}k .55 $/B 4 ~ 8 psia
C. 12 psia~ 20 v A 4% /B 4 ~ 2 psig
D. 12 psia ~ 30 v4 & 4.5 £ /& 4 ~ 2 psig

&% B
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Zriy %5 ¢ K1.01 [2.5/2.7]

BE.:  P2773

Which one of the following is arranged from the highest pressure to the lowest pressure?
A. 2 psig, 12 inches Hg absolute, 8 psia

B. 2 psig, 18 inches Hg absolute, 8 psia

C. 12 psia, 20 inches Hg absolute, 2 psig

D. 12 psia, 30 inches Hg absolute, 2 psig

ANSWER: B.

ELRGE- LS N o I GV
A. 2psig~ 12 ¢4 & 4.8 ¥4/ 4 ~ 8 psia
B. 2psig ~ 18 =}k .55 $/B 4 ~ 8 psia
C. 12 psia~ 20 v A 4% /B 4 ~ 2 psig
D. 12 psia ~ 30 v4 & 4.5 £ /& 4 ~ 2 psig

&% B
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Bt P374 (B373)

Refer to the drawing of four differential pressure (D/P) level detectors (see figure below).

The tanks are identical and are being maintained at 17 psia and 50% water level. They are
E;J/rggunded by atmospheric pressure. Which one of the level detectors will sense the greatest
Al

B. 2

C. 3

D. 4

ANSWER: B.

SRR e B LROP) K -

KA AR T g 517 psiaZ 50%-K 0 A EST A R A 2T o UK 3t MR BT 4
AR
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B P573 (B1973)

A water storage tank is enclosed to prevent vapors from escaping to the environment. The
tank is also pressurized to prevent boiling. A differential pressure detector with a dry reference
leg is used to measure the tank level.

To achieve the greatest accuracy of measurement, the low pressure side of the detector should
sense which one of the following?

A. The pressure at the bottom of the tank

B. The pressure of the atmosphere surrounding the tank
C. The pressure of a column of water external to the tank
D. The pressure of the vapor space at the top of the tank

ANSWER: D.

— BRRE B H P RTEGRFIRE Y o TR LA o # % L5t 44 i (dry
reference leg) s £ /&R 2+ % | £ 3% J\ﬁ;mj\ = o

B REERMFORIEE > LR DUBRRGR BIIT AR ?

Al CKH ATV 4 o

B. "kHx % et R o

C. ki bk i 4

D. -k E kT % R 4
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Refer to the drawing of four differential pressure (D/P) level detectors (see figure below).

The tanks are identical and are being maintained at 17 psia and 70% water level (calibration
conditions). They are contained in a building that is open to atmospheric pressure.

Which of the level detectors will provide the lowest level indication if atmospheric pressure
decreases?

A. land3
B. 1and4
C. 2and3
D. 2and 4

ANSWER: B.

Nid

BT Bleow B LR (D/P) kit o

it
K Ap e o dE 17 psia 2 T0% Kk im(fe (SR i) B R e < FRA P2 AP -
a8 2

dod & F R A E M PR R R BT AR g 19

=
e

A 123
B. 1& 4
C.2¢3
D. 24

B% B
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B P1673(B1174)

Refer to the drawing of four identical tank differential pressure (D/P) level detectors (see
figure below).

The tanks are identical and are presently at 2 psig overpressure, the same constant water level,
and a temperature of 60°F. They are surrounded by atmospheric pressure. All level detectors
have been calibrated and are producing the same level indication. A leak in the top of each
tank causes a complete loss of overpressure in both tanks.

Which level detector(s) will produce the lowest level indication?

A. No. 1only

B. No. 2 only

C. No.land4

D. No.2and3

ANSWER: D.

FHRRT R B AR vk L (DP) K g o

K AR P dF A2 pSiglE R o kARl P 4E A R0 BRI E60F 0 TS
A 2T e g R i 0 @ T g ARk o W TRRAE RS Bk 2

M-
e Sy

R TR () Bk it d R AR g 2
A. ¥ No.1
B. ¥ 3 No.2
C. No.1#4
D. No.2£3

%D,
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Refer to the drawing of four identical tank differential pressure level detectors (see figure on
next page).

The tanks are identical and they are presently at 2 psig overpressure, 60°F, and the same
constant water level. They are located within a sealed containment structure that is being
maintained at atmospheric pressure. All level detectors have been calibrated and are
producing the same level indication. A ventilation malfunction causes containment structure
pressure to decrease to 12 psia.

Which level detectors will produce the lowest level indication?

A. land?2

B. 3and4

C. 1land4

D. 2and3

ANSWER: C

e Y w AR ko £ Rk
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j?-
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F_&
A=

KA AP R B B A A2 psigiE R 0 B R 2 60°F 0 R imAp ke P dE A éﬁé
FORA DRHPERSP o ATF R FREE > g ARk o 3
?ffiﬁ‘uﬂmfi” "% 312 psia °
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B i P2574 (B2573)

Refer to the drawing of four identical tank differential pressure level detectors (see figure on
next page).

The tanks are identical and they are presently at 2 psig overpressure, 60°F, and the same
constant water level. They are located within a sealed containment structure that is being
maintained at atmospheric pressure. All level detectors have been calibrated and are
producing the same level indication. A ventilation malfunction causes containment structure
pressure to decrease to 13 psia.

Which level detectors will produce the highest indication?

A. land?2

B. 3and4

C. land4

D. 2and3

ANSWER: D.

e Y w AR ko £ Rk
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F_&
A=

KA AP R B B A A2 psigiE R 0 B R 2 60°F 0 R imAp ke P dE A éﬁé
FORA DRHPERSP o ATF R FREE > g ARk o 3
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Refer to the drawing of a differential pressure manometer (see figure below).

A differential pressure manometer is installed across an orifice in a ventilation duct. With the
ventilation conditions as shown, the pressure at P1 is than P2, and airflow is
from

A. greater; left to right

B. greater; right to left

C. less; left to right

D. less; right to left

ANSWER: A.

T ML R

AR EER R B It T B g o i bR A BT 0 BIPLeE 4 P2 F iin
5 :
A w3 2T

LLLLLLLLL L

M 2

777 V77277 7] 7T

DIFFERENTIAL PRESSURE MANOMETER
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Refer to the drawing of four differential pressure level detectors (see figure below).
The tanks are identical and are being maintained at 30 psia with a water level of 20 feet. They
are surrounded by standard atmospheric pressure. The water temperatures in the tanks and

reference legs are the same.

If each detector experiences a ruptured diaphragm, which detector(s) will cause indicated tank
level to decrease? (Assume actual tank water level remains constant.)

A. No. 1only
B. No. 2only
C. No.1,2,and3

D. No.2,3,and 4

ANSWER: D.

HERT Roor B LRk 3t

kg Ap e 2 dadF 530 psia ki 520 o Tt R S F R 2T o R ST KR
ok o

Yot & oK AR B - (B) BRI IOR A on ok T R P (BROR G hE B
a2 )

A. ¥4 No.1
B. ¥ 3 No.2
C. No.1~2£3
D. No.2 -~ 34

%D,
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B P2973 (B673)

Refer to the drawing of a differential pressure manometer (see figure below).
A differential pressure manometer containing water is installed across an orifice in a
ventilation duct to determine the direction of airflow. P1 and P2 are pressures sensed in the

ventilation duct.

With the conditions shown in the drawing, P1 pressure is than P2 pressure, and
airflow is to the

A. less; left
B. less; right
C. greater; left
D. greater; right

ANSWER: A.

WRET RL RS

— R RE S PR enat T b % AR it o PLrP24 7 il
bEREEIIOES

F AR Ao R #Tn 0 RIPLRE 4 P2 f imihw % .
A w2
B. % %t

L

P 2

1 = P
SN AN S

DIFFERENTIAL PRESSURE MANOMETER
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A water storage tank is vented to atmosphere. The tank is located at sea level and contains
100,000 gallons of 80°F water. A pressure gauge at the bottom of the tank reads 5.6 psig.
What is the approximate water level in the tank?

A. 13 feet

B. 17 feet

C. 21 feet

D. 25 feet

ANSWER: A.

- B F I A F okt AT g A 0 R 3 80°Ferk100,0004r & o oK A IR
Jp4 i B a5.6psige ok ks S 2D

A. 13=

B. 17

C. 21w

D. 25«

XA
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Refer to the drawing of a tank with a differential pressure (D/P) level detector (see figure
below).

If the tank contains 30 feet of water at 60°F, what is the approximate D/P sensed by the
detector?

A. 2 psid
B. 13 psid
C. 20 psid
D. 28 psid

ANSWER: B.

FRET WY K LBOP) K gk -

dok R N 33060 Frk ok R I LR L 52

A. 2 psid
B. 13 psid
C. 20 psid
D. 28 psid
TANK OFEN
TO ATMOSPHERE
¥% B

DiP
DETECTOR

TANK DIFFERENTIAL PRESSURE LEVEL DETECTOR
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A water storage tank is vented to atmosphere. The tank is located at sea level and contains

100,000 gallons of water at 80°F. A pressure gauge at the bottom of the tank reads 7.3 psig.
What is the approximate water level in the tank?

A. 13 feet
B. 17 feet
C. 21 feet
D. 25 feet

ANSWER: B.

- BERWE F DS F ¢ o dE R AT G B AR 0 7 80°F-k100,0004 & o AR H AR
R A EE RT3 psig e R R kR E 50

A. 13

B. 17

C. 21

D. 25«

&% B
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FF3% : P4537 (B4537)

A water storage tank is vented to atmosphere. The tank is located at sea level and
contains 100,000 gallons of water at 80°F. A pressure gauge at the bottom of the tank
reads 9.0 psig. What is the approximate water level in the tank?

A. 13 feet

B. 17 feet

C. 21 feet

D. 25 feet

ANSWER: C.

— R RAVEE KRS o ZKRE L8~ F i 5 S N A 80°FHY 7K 100,000/ © {EFEJE
HHYBE 2 % 9.0 psig o AKEENZKAIEY R 2670 2

A.13 feet

B.17 feet

C.21 feet

D.25 feet

R 22 .
ExE: C
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3k : P4837 (B4837)

Refer to the drawing of two water storage tanks with four differential pressure (D/P)
level detectors (see figure below).

The tanks are identical and are being maintained at 2 psig overpressure, the same
constant water level, and a temperature of 60°F. The tanks are surrounded by
atmospheric pressure. All level detectors have been calibrated and are producing the
same level indication.

If a leak in the top of each tank causes a complete loss of overpressure in both tanks,
which detector(s) will produce the highest level indication(s)?

A. No. 1 only

B. No. 2 only

C.No.land 4

D.No.2and 3

ANSWER: C.

SEFERCEA MBS (D/P) RAEisrIE/KIEE (R T E) - RIEKE
A IFJ AR SEFF R 2 psigiBER > e AHEIAYE AL > E260°FH R » Wi/KiE
BRITRIRRBET] - BERA (Hiesstg ERCEE - TaR% EMEIRAFE -

WSRO (KA H TR R P R R B 25 (I /KA 52 e R IB R - (W& (HAR e R U i
=HYRAL ?

A S E S

B. A 4R52

C. 4Rt LI Gmoitd

D455t 2M1 453

R 22 .
EE: C
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Refer to the drawing of an open water storage tank with a differential pressure (D/P)
level indicator that is vented to atmosphere (see figure below). Both the tank and the
level indicator are surrounded by standard atmospheric pressure. Tank water
temperature is 70°F.

The D/P level indicator is sensing a differential pressure of 4.0 psi. What is the water
level in the tank above the instrument penetration?

A. 9.2 feet

B. 16.7 feet

C. 24.7 feet

D. 43.2 feet

ANSWER: A.

S —RCFEEE (DI Py ts ResHIBIGUEEKMRE (L T E]) - AR AIfE R es
AR, o KRS T 28 R A R © AKIAOR B T0F » BEZRAFS T
%2 (D/P) HSHNEESE F54.0 psi - 15Kl BEE3EEakEs 1 HIK A2 S/ 2

A. 9.2 feet

B. 16.7 feet

C. 24.7 feet

D. 43.2 feet

=
= =
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